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Y 3 Block 1 Assessment PART 1
Answers and suggested mark scheme

Qu. Answer Comments
[
No. 3
— Total 20 marks
1 2b a) 32,16, 4, 26 1 mark for al correct.
2b b) 5, 21, 47, 33 1 mark for al correct.
2 2b a 4,21 1 mark for al correct.
2b b) 10,5 1 mark for al correct.
3 2b 16—4=120r16-12=4 1 mark.
4 2a |97 1 mark.
5 2a | 17,18 and 27 1 mark for all correct.
6 2a |13 1 mark
7 2a |a)19=13+6 1 mark
8 2b |13, 24,31, 42,50, 85 1 mark
9 3b | £4.07 1 mark.
Accept £4.07p but
discourage use of p
symbol.
10 3c |24cm 1 mark
11 3c a) £3.30 1 mark.
b) £1.70 2 marks. 1 mark for a
show any correct method correct method if
wrong
12 2a| 7cm 1 mark.
Check the length on your photocopy | Accept £ 2 mm.
13 3a o T oo [ vatos 2 marksfor ALL
cube * 6 192 8 correct.
Triangular 9 6
prism 1 mark for at least 3
cuboid 6 12 8 correct.
14 2a | Parallelogram, rhombus and rectangle. 1 mark for ALL
correct.
15 3b |50 1 mark
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Answers and suggested mark scheme

Question | level Answer Comments
1 2b a 2,4,8 1 mark for all correct
b) 10,20 1 mark for all correct
2 2b | 12,27, 34,50, 78 1 mark for all correct.
3 2b 7 4 6 2 marksfor all correct
2 5 1 1 mark for at least 3
10 8 3 correct
4 2a | a)3.30or half past threeetc 1 mark
b) 4.15 Or quarter past 4 etc 1 mark
5 3c | Tablecorrectly completed 2marksfor ALL
correct.
1 mark for at least 2
correct.
6 3c 3,456 13,14 24 1 mark.
7 2a Double7 —» 14 2marksfor all correct
Sumof 26and9 —» 35 1 mark for at least 2
Halfof 18 —3p 9
Difference between 22 and 5 17
8 3 | Ya 1 mark.
9 3b | Any 3 squaresshaded 1 mark.
10 3c ([20+5=4 4x5=20 3 marksfor all correct
20+4=5 1 mark for each
11 3a |8 2 marksif correct
1 mark for correct
method but incorrect
answer
12 3c 1 mark for all correct
odd Not odd
9 6
35 14
16
38

Total
20 marks




Draft Level Thresholds Y3 Block 1

below level
2B

2B

2A

3C

3B

3A +

0-7

8-15

16 - 23

24 - 31

32 - 37

38 - 40

Total marks for Part 1 and Part 2 = 40 marks




